B;aka—k

T
=
(mf
=
Jm

240001

|11
o
3@

(WERREE

A ITEY—EA®

S DEAEIRIREF (T FaE4A 18]

R 7E )

D EBLEBEDEMIL }

=
— R = s s - = (FPEMFR)
SR T FEEWR LR SR =
EiE | EREX
EiniF £3xH BEDE | t2B |#EZa2| ZoM ws wE | BHEL | HEesH
100.0% 78.7%
@) @) @) @) @) @)
[EEFEELIRVERBEXRZEARIINEXERODER1Z. [EHEFEHYIOFERIXIERT ERFEAIZFEEHEL TS0,
BPRDFEH#RAN (704
AR R S5 ) EFWEDR
(5) B A B 2T LDISHRE }
[5%]
- R (ERERTE)
A ER =R
il 959k
. 0.0% 100.0%
I Biaxo>ok O
B 5K

O)AHEHRFREETE

T IE]

N

CE)RH4EIABRRICKEITHIRETHD &,

W 0 BETE )| wrrrmm
(£%]
REEE (ZEEEHERR))
100.0%
IN\NEE w
(DT B=5t DER J GE) SM4E3AN BB RICE T ERETHDI L,
-G EEICLIUBEEOEARRE (THRFEREICRLI—RBREFAFUBER)
PERLH 0 Rt )| fERET TR

EREI & (2B (BERR))

[3£]
= v ry = v S 2E(HEFE)
BEGO SHOABHE [EE K EBRU-EHROAEE] o
AFEDER 10008
AFEDEHEZEH 100.0%
ey S PE Yo 100.0%
BER AL 92.9%
4\ FAEESEER o1.9
Rh 4ol G A = .
FRIGE GAE) 97.8%
Rk 4ot A : 9
FRIGE GEHR) 100.0%
I‘_}.Ll ;I: = 0,
%*x%f%ﬁ%f’% 41.9%
IKEEA—2—FE gt 100.0%
B e BEE 100.0%
IEERAIER - [T INIEHR S R T LM 100.0%
R—LR—I R ERE 100.0%
RAE-EET 97.9%
XKEHAFARATHREICBLWT. EETEEREZEL\TLAEIK
e =i fo ]
QRIEEEEEHFHEZFOEA )
[5Z]
n B ~ - S, 5‘1-\ |’=' N -l R — = 5_ g ;E\
ﬁﬁﬁgﬁ ﬂﬁ%@k BAE RIS AR, |ANEA TGN EE *E‘-@E%H%; BAKBEZEETEEELTWWAEIINTEEZA @@gﬁﬁ”
AEEE 3 3 100.0% 0 95.3%
BRIIE 0 0
(B, 7= 20— 1) 6 6 | 100.0% 0 92.9%
T—)L 1 1 100.0% 0 95.3%
BKAS 0 0 0 57.1%
BEAkEER 0
Ry, BREEE) 0 0 0 92.9%
AREEER 0
(ARBE. B LDFED) 0 0 0 95.8%
Ty TIBE 0 0 0 92.7%
EEERIZHEEER 0 0 0 52.9%
BrRiGEsR. RATiER 0 0 0 100.0%
BB RS 0 0 0 30.4%
KRR NE 8 8 100.0% 0 88.3%
NEEE 59 59 100.0% 0 65.7%
EiE 15 0 0 0 84.5%
KIREER. Fi5F 0 0 0 90.0%
. TRHI0EENS—BER EREORBEEER SRS SEEEEEEALLLO 0. EFEAROONG I BEELIIEHEEE TEHBLT ,
RELE 1 1 100.0% 1 NBIt. BAKBAEHESESDEN DS, " ) 12.9%
BatEmiE. T, TRIEENS—MER EREOHSEER VIERS)
ELT N 4 3 75.0% |BEBEEBAL. BPHEAROLNSFEL BRI SHEBE TRIES 5. HEE 3 BABME. EHEIL. TRIOEE,>—HER EREOMBEERMEES) ST EBEEALLLO0. BPIMARD SN2 EH 49.5%
(EfE. B, BRE. BYES) MO s, RO EESCHEEEEREATIILICEEDOA) YN RADE FIEMEEETEEL TS0, BARBEZEESEINELNHD. DR
W=6HEALTLVALY,
NREE. TRSEE 0 0 0 0.0%
Xit&£E 1 1 100.0% 0 92.3%
N =
R EEE ANR—L 0 0 0 100.0%
NEXELS— 0 0 0 100.0%
Eft- Rt 52— 4 4 100.0% 0 79 1%
REVST . FEESH 0 0 0 100.0%

97.9%




